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QUESTION 1

You have created a storage virtual machine named SVM1 with a NetBIOS name of FILES1 and you have successfully
joined the Active Directory domain. You have created a CIFS share called SHARE1 and have given read/write access to
all users. Network connectivity has been verified.

To which path should the users be mapping?

A.\SHARE1\FILES1

B. \FILES1\SHARE1

C.\SVM1\FILES1

D. \\FILES1\SVM1

Correct Answer: C

QUESTION 2

How many disks reside in a DS4246 shelf?
A. 46

B. 42

C.14

D.24

Correct Answer: D

http://www.netapp.com/uk/products/storage-systems/disk-shelves-and-storage- media/disk-shelves-techspecs.aspx(See
the Table).

QUESTION 3

A customer has LUNSs that are being accessed through iSCSI. The applications have experienced increased LUN
latency over the last couple of days.

Which two components should you review to determine what caused the rise in latency? (Choose two.)
A. node CPU utilization

B. FC switch performance

C. Ethernet network performance

D. cluster management switch performance

Correct Answer: CD
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QUESTION 4

A NetApp cluster is connected to two network switches for resiliency. One of the network switches loses power. Most
LIFs on the cluster automatically recover from the switch failure to and are reachable through the network. One LIF used
for CIFS access is not reachable through the network until power is restored to the failed switch.

Which two areas should be investigated to determine the problem? (Choose two.)

A. The protocols allowed on the LIFs.

B. The LIFs failover-group configuration.

C. The LIFs home port.

D. The broadcast domain\\'s member ports.

Correct Answer: BC

QUESTION 5

A customer has an aggregate, aggrl_01 with three RAID groups: rg0, rgl, and rg2. Each RAID group has 15 disks, and
the aggregate\\'s maximum RAID group size is set to 18 disks. The customer adds three additional disks to the
aggregate using the following command:

storage aggregate add-disks —aggregate aggrl_01 —diskcount 3

How are the RAID groups affected by this command?

A. The disks are added to a new RAID group rg3.

B. Each RAID group receives one additional disk.

C. The three disks are added to RAID group rg2.

D. The three disks are added to RAID group rg0.

Correct Answer: B
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